
Math 4d. Class work 20. 

.   ||𝑥| − 5| = 1 

 

 

Example1: Ratio of the green balloon to the red balloons is 
1

4
 (1 to 4). On both pictures there are four red balloons for 

each green balloon. The number of green balloons is a 

quarter of the number of red balloons. (Or, the number of 

RB is 4 times greater than number of GB).  

1

4
=

4

16
 

There are 1165 red and green balloon in the store. The ratio of GB to RD is 1 to 4. How 

many green and red balloon are in the store? We can solve the problem by methods:  

1. Because there are 4 RB for each green one, all balloons can be divided into 

groups of 5 – 1 green and 4 red. 1165: 5 = 233. So, there are 233 green balloons 

and 4 ∙ 233 = 932 red balloons. 

2. 
1

5
 part of all balloons will be green balloons. 4 + 1 = 5, and 

4

5
 will be red. 

1

5
∙ 1165 =

= 233 

Also we can say that the ratio of green boolns to all balloons is 
1

5
, or 1 to 5, in other 

words, one out of 5 balloons is green (and therefore 4 are red) 

 

 

 

 

 

 

The ratio is very similar to fraction: in the mixture of dried fruits the ratio of dried apricot 

and prunes   are 4 to 5. For each 4 weight units (for example 100g or 1 kg) of dried 

apricots there are 5 such units of prunes (or 
4

5
 weight unit of dry apricot for each 1 

weight unit of prunes). What is the weight of prunes and apricots in the 1800g. of 

mixture? Another fruit mix of apricot and prunes has the ratio 3 to 4 (or 
3

4
). How much 

apricots and prunes are in 1400g of mixture? What will be the ratio of dried apricots and 

prunes if we will mix these two mixtures?  

Can we just add two fractions 
4

5
 and 

3

4
? 

The ratio of two numbers indicates how many times one number is larger than 

another or which part of one number the other number is. 



Solve the problem for 2430g of first mixture and 3570 g of second?  

Let’s go back to the first example, with re and green balloons. The ratio of green 

balloons to all balloons is 1 to 5.  

1

5
=

20

100
 

As you can see, for 100 balloons in total, 20 will be green. The ratio of a number to 100 

is a percentage, so 20% of balloons in our store is green.  

 

 

 

1. One percent (1%) means 1 per 100. 

 

1% of this line is shaded green: it is very small isn't it? 

2. How many squares we have to shade to shade 10% of the line, 15%, 20%, 25%? 

3. There are 200 pencils in the box. 3% of the pencils are red, 26% are yellow, and 

the rest are blue. How many red pencils are in the box? 

4. 15% of the participant of math Olympiad solved 1 problem, 25% of the participant 

solved 2 problems, and the rest 24 students solved all three problems. Haw 

many students did participate in the math Olympiad?  

 

5. Dry cranberries contain 25% of water. How much water should be evaporated 

from 5 kg of fresh cranberries to get dry cranberries, if fresh cranberries contain 

85% of water? 

 

 

 

 

 

1 percent of quantity is a 
1

100
 th part of it. 

. 



Geometry.  

On the picture below find the pairs which will supplement each other to a whole 

cube.  

 


